5 Fractions

A fraction is a part of a whole. If a whole thing is divided into equal parts, each part
1 <—— Numerator

is a fraction. It is made up of two parts. -
2 <«—— Denominator

“Afraction represents an equal part of awhole”.
< Afraction canalsorepresent part of a set.

For Example: >

8

< Aproper fraction hasanumerator less than the denominator.

For Example: 2 ——  Numerator
37" Denominator
< Animproper fraction hasanumerator greater than the denominator.
ForExample: 5 —— Numerator
4 ——  Denominator
% Like fractions have the same denominators.

For Example: %, %and%arelikefractions.

< Unlike fractions have different denominators.

4 2 1 . .
ForExample: —, = and = areunlikefractions.

< Unitfractions have only the digit 1 as the numerator.
1 1 1 1 . .
ForExample: =, =, = and-—= areunitfractions.
3 4 7 8
< Equivalent fractions have the same value even though the numerators and
denominators are different.
1 4

For Example: 5 and 3 are equivalent fractions.

< A mixed fractionisacombination of awhole numberand a proper fraction.

ForExample: 2and c is 25 ; isa mixed fraction.
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i %< Comparing and Ordering Fractions

Comparing Like Fractions
Itis easy to compare, when the denominators are same. We compare the numerators

easily.

.5 3
ExampleI : Comparethefraction 3 and 3
Solution : Here,the denominators are same.

5 3
Numerator5> 3, so §> E'

Comparing Unlike Fractions
When the denominators are different, we compare the fractionsin two ways.

1. We can compare by cross multiplication. The side which has the bigger product
has the bigger fraction.

3
Example II : Comparethefractions e and rE
Solution  : Wecross multiply the two fractions,
Cross product
4 3
2 6x3-18 s a
6 4 4x4=16

Si 16<18 i<§
ince, /SO =<

2. Wecancompare unlike fractions by converting them into like fractions.

_ 5 2
Example IIT : Compare thefl’aCtIOI’ISg andz .

Solution : Convertinggiven fractionsinto like fractions, we get

22,12 and 2-242_% (LcMof8and4is8).
g8 8 1 8 4 4 2 8

On comparing the numerators, we find 5 >4,
5 4 5 2

L =>—or —>—.
8 8 8 4
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1. Find the least common denominator for each part by multiple method.

B A N
3 5 ' 2 10 45 ' 5 10
2. Find the least common denominator for each part by division method.
123,351 579 . 5113
234 4°6 2 6 8 10 10 15 20
3. Compare by finding the LCM of the denominators.
2 4 3 3 7 3 3 7
a. §|:|§ b. §|:|Z C. §|:|Z d. EDE

4. Fill in the blanks for equivalent fractions.
T I A

5 7 28 9 10 20
5. Write the fractions in ascending order.
123, 121 323 497
4 58 395 4 95 510 15
6. Write the fractions in descending order.
. 123, 245 233 4 215
234 356 3514 356

@Addition and Subtraction of Fractions

Addition and Subtraction of Unlike Fractions
We know that, how to add and subtract like fractions (with a common denominator).

To add or subtract unlike fractions, first we convert the fractions into equivalent
fractions witha common denominator.

@ 7&61?5’ tol Know

O To find equivalent fractions with a common denominatot, we first :
find the LCM of the denominators. '

QO  Fractions must be simplified wherever possible.
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Solution
Step 1

Step 2

Step 3

Example V
Solution
Step 1

Step 2

Step 3

=
()
eﬁ
’; Example IV :

Add 2 and? .
9 6
Find the LCM of the denominators.
319, 6
3, 2
1, 2
1, 1 LCM=3%x3x2=18,LCMof9and6is18.

Write equivalent fractions with LCM as denominator.

2.2 .4 5315

9 2 18

Add numerators and change to mixed number.
4,15 _ 19 _ 1

18 18 18 18

3
2

1
Subtract = from 7 X
4 8

Find the LCM of the denominators.

LCM of4and 8is 8.
Write equivalent fractions with the LCM as denominator.
7 1 7 1 2 2

g 1 g and 27773

Subtract numerators.

8 8 8

Addition and Subtraction of Mixed Numbers

The steps are the same whether we are adding or subtracting mixed numbers.

Example VI

Solution
Method 1
Step 1

Step 2

(56

w

Add 23 and12.
2 8

Add the whole numbers.
2+1=3

Find the LCM of the denominators.
LCMof2and8is 8.
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Step 3 : Find equivalent fractions with LCM as denominator. ' OQ'Q;
3,412,515 :-
2 4 8 8 1 8
Step4 : Addthe numerators.
12 5 17
8 8 8
Step 5 :  Simplify.
7,1
8 8
Step 6 :  Addthewhole number and mixed number.
3+21 = 51
8 8
Method 2
Step 1 : Changetoimproper fractions.
3 7 5 13
272 5T
Step 2 : Findthe LCM of the denominator.
LCMof2and8is8.
Step 3 : Find equivalent fractions with LCM as denominator.
7,4.28 13113
2 4 8 8 1 8
Step 4 . Addthenumerators. =%’
28,13 _ 4 J Factsito Knowh
8 8 8 QO To add mixed numbers change the
Step 5 . Simplify 41 _ 51_ fractions to improper fractions.

:Q If the sum of fractions is an impropet:

Example VII : Subtract 2 3 from 41 5 fraction, change the improper fraction:
4 6 : to amixed number. ;

Solution
Step 1 : Changetoimproper fractions.

1,325 1

6 4 6 4
Step 2 : Findthe LCM of the denominators.

LCMof6and4is12.
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;;,"6 Step 3 : Find equivalent fractions.
’ei 25 2 50 11 3 33
—x—=— and —x—=—
6 2 12 4 3 12
Step 4 : Subtractthe numerators.
50 33 _ 1
12 12 12
Step 5 :  Simplify asa mixed number.
17 5
- 1=
12 12

Properties for addition and Subtraction of Fractions

1.

N 4
\

Zero property : Thesumand difference of zero and afractionis the number itself.
For Example: 4+ _4 4 0 4

Commutative property : The sum stays the same when the order of addends is
changedinaddition, but notin subtraction.

3 5 5 3 3 5 5 3
ForExample: —+—=—+— but ———# ———

5 9 9 5 5 9 9 5

Associative property : The sum stays the same when the grouping of addends is
changed, but notinsubtraction.

532 5 (32
—+— [+—=—+| —+—
8 5) 3 8 (5 3

d ¥ Exercise @

Solve and write the answer in the simplest form.

2.2 b o4l 2.2 g 3-7
“ 6 6 a4 “ 6 6 "6 6
Add by finding the common denominator. Simplify ifneeded.

2 3 7 1 35 4 7
a. —+— b. —+= c. —+— d —+—

3 4 8 2 5 6 5 10
Subtractby finding the common denominator. Simplify ifneeded.
2. 1.3 . 3.1 c. 2.1 g 2_2

8 4 4 2 6 2 10 5
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4. Findthe sum orthe difference.Simplify ifneeded. % .éi'
8 1 1 .1 3 .7 3 7 %e'
a. —+2- b. 2—+3- c. 4--2— d. 8--6—
9 3 4 2 5 10 5 10
5. Solve and simplify the following.
a. 2§+41_3E b. 1Z+2E_1§
4 2 6 8 16 4
C. 3£+2l_41 d. 514.23_45
5 10 2 2 3 6

@Multiplication of a Whole Number by a Fraction

Let us learn the multiplication of fractional numbers.

: . 1
Let us suppose 6 is multiplied by 3

representl and represent6.

1
3 of 6 means 2.

1 111 1+1 _1+1+1+1+41+41 6 =5
3 3 3

of6= %><6 =2,the shaded portion.Therefore, §><6 =2.

Fractionx Whole Number =

Numerator Whole Number ~ Numerator x Whole Number

Denominator 1 Denominator

Example VIIT : Findthe product:

=
I

a. z><4

2><3 C. 13x5
3 9 9
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2 2x4
¢ Solution : a. —x4-= = §=2E

’*i 3 3 3 3

2
b. 3><3=2x3=£3=z (reducingtothe lowest form)
9 9 g 3

2 3 2x 3t _2x1 2
Another method: §>< = 9 3 3

C. 13)(5:2)(5:11)(5:%:61
9 9 9 9 9

2 2
Another method : 15" 5= (1+§) x5

=1x5+gx5 =5+E
9 9

_ 5><9+E_ 45+10
9 9 9

d ¥l Exercise @

Find the product of the following.

a. Exll b. ix6 C. ixlz
6 9 11
Multiply the following.

17 5 15
a. — by 38 b. — by 39 c. — by 54
19 y 13 Y 18 Y

Multiply the following.

a. 171 by 5 b. 41 by 16 C. 8i x 30
5 2 15

Fill in the blanks.

a. §X4=|:| b. %Xl:‘:E C. ng:E
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Q Multiplication of a Fractional Number -
by a Fractional Number Q

1 1 .1
— is multipliedby— = —of—.

Suppose thisis whole (1).

1
Thewhole flgure has beendividedintotwo halves( = > ).

For showmg -l of —, it is further sub divided half of the
3 2’

figure into 3 equal parts.

Whole figureisdividedinto 6 equal parts.

1 1
Here, the double shaded portionis 3 of —part.

Now, 1 of 1 is 1 of the whole figure.
3 2 6

1 1
Therefore, —x—
3 2

IX1
2><3

1
6
1 1 1
or—x—= =
3 2 6
. 1 1
Example IX : Multlply— by .

111><11

. . — X —=
Solution : 5 6 5x6 30

Therefore, multiplication of 1 byl is i

5 6 30

d ¥ Exercise W

1. Findthefollowing product.

1 4 4 3
a. 7—Xx— b. Exi C. slel d —X—
4 5 9 7 3 3 3 12

4 2
= 2 3 3 15 4 25
4 X f 4—x— — x= h — X —
© 6 8 T 54 “ 10 2 "~ 5 28
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2.  Multiply the following.
‘. 1
S S U B T R U A SR I
3 2 7 2 7 5 3 3 6 6 14 49
e. iXixl f. ixixi g. Exsxﬂ h. EXIXE
5 7 9 5 10 4 7 9 15 5 3 16
3. Findthe following product.
3 5 3 5
a. 12x— b. 21x— c. 60x— d. 128x—
16 14 10 6
e, 126x22 £ 32x31 o 50x9+ h. 140% >
4 8 2 8
Properties of Multiplication of Fractional Numbers
Propertyl : The product of two fractional numbers remains the same even if
their order of multiplicationis changed.
For Example 5
18x 2= W&x5 b 5l
17’ 2
3
and > x18= 52X _15 51
12 17* 2 2
Therefore, 18 x> =2 x18.
12 12
Property 2 : The product of three fractional numbers remains the same even if
their grouping of multiplication is changed.
For Example : 12 3 1 2 3
—X— X —= —x(—x—z)
35 4 3 5 4
1 3 1
= X—=—
3 10 10
3 (1 2) 3
—X—X—=(—X—)x—
and 4 '3 5 4
2 3 1
5 A4 10
Therefore, lx(zxi)- (EXE) xi_

3 5 4 3 5 4
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Property 3 : The productoflandafractlonalnumberlsthefractlonalnumberltself 09
ForExample : %
4 4x1 4
d. _x1= -
5 5 5
6 26 26x1 26 6
b. 4—x1=—x1= =—=4—
5 5 5 5 5
Property 4 : Theproductof‘0’andafractional numberisalways zero.
For Example
3 4 4x0 O
. —xO: =—:O
9 9 9
b 5 26 26x0 O
- 3—x0=—x0= =—=
7 7 7 7

Multiplicative Inverse of a Fractional Number

If the product of two numbers is 1, then each number is known as multiplication
inverse orthe reciprocal of one another.

For Example oL 3x1_
3 1><3
Therefore, the multiplicative inverse of 3is 1
1 3
and the multiplicative inverse of 3 is 3.
Property 1 : Ifthe product of a fractional number and a whole numberis 1, then
each of the factorsis the multiplicative inverse of the other.
1 . o 1 1. e
In—x5=1, 5is the multiplicative inverse of — and E is the multiplicative
5 5
inverse of 5.
Similarly,
1 isthe multiplicative inverse of 7 and 7 is the multiplicative inverse of —.
7 7
1
1 is the multiplicative inverse of 11 and 11 is the multiplicative inverse ofE-
11
Property2 : If the product of two fractional numbers is 1, then each of the
fractional numbersis the multiplicative inverse of the other.
2 3 2 T 3 3.
In 3 X > =1, then 3 is the multiplicative inverse of > and > is the

2
multiplicative inverse of —.
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Property 4
Property5

For Example

Property 6

For Example

Example X

Solution

(64

: The multiplicative inverse of 1is 1itself because 1x1=1,then listhe

only number whose multiplicative inverse is the number itself.

: ‘0’ multiplied by any numberis 0and never equalto 1. Therefore, the

multiplicative inverse of 0 does not exit.

: The multiplicative inverse of a number greater than 1 is always less

than 1.
Number Multiplicative inverse
5 — ,Since 5 x 1=1
5 5
8 l,Sinceg>< lzl
8 8
: The multiplicative inverse of a number less than 1 is always greater
than 1.
Number Multiplicative inverse
1
1 4, Since —x4 =1
4 4
1 i 1 x6 =1
n — =
6 6, Since 6

Whatis the multiplicative inverse of the following mixed number.

1 1
a. 7— b. 5—

3 4
d. 71=£

3 3

. 22 3 3 . e 1
Since, — x— =1, therefore, — isthe multiplicative inverse of 7—.
3 22 22 3

Since, Exi=1, therefore, 4 is the multiplicative inverse of 51_
4 21 21 4

A Gateway to Mathematics-5



~ o
& Exercise S ? &

1. Fill in the blanks.

7
a. —X4=4x.............. b, 5X— = .. i, x5
7 8
4
C. 3= X oovivirinnnnnn.. =7><31 d ix— S ><E
4 4 5 5

Co vevvernnns X E’>1x21j=(8§><31j><21 d. (SEXZEJX ...... =5£x(23x11)
3 4 4 "3) "4 7 \U4 9
3 Fillin the blanks.
a. ile: ........... b. Ex ........ =1 (R xi=1
12 5 13
d.lx ......... :1 e. Exgz .......... f. Slxiz ..........
19 17 13 3 16
4. Findthe multiplicative inverse of the following.
1 9 1
a. — b. — c. —
13 16 20
d. 17 e. 53 f 10+
4 3
@Word Problems
Example XI : Express20cmasafractionofametre.
Solution : Requiredfraction = 20 cm
1 metre
26" cm

orrequired fraction .Since,1m=100cm,

160° cm
1 .
therefore,20cmiis E fraction of a metre.

Example XII : Iflsleep8hoursdaily,then whatpartofadaylspendinsleeping?
Solution : Timespentinsleepingaday=8hours
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Thenthe partofadaylspendinsleeping = 8 hours
) . 1 day
Therefore, required fraction = £ .1 ,since 1day=24hours.
247 3
Thus, I spend 1 partofadayinsleeping.

3

Example XIII : One-half of the students in a school are boys. > of these boys are

6
studying in lower classes. What fraction of boys are studying in lower

classes? )
Solution : Fraction of boys studyinginschool= =
Fraction of boys studyingin lower classes = Eofl
6 2
51
=—X—
6 2
_5x1 5
6x2 12

5 ..
Thus, — of boys are studyingin lower classes.
1

2
" .
g] Exercise @

A book has 80 pages. Ponty read 1 of it. How many pages Ponty hasread?
8

4 1
At a party, Ranifound that c of a cake was left. She ate > ofit. What part of the cake did

sheeat?

2 1
The cost of 1 kg of sweetsis X 505 .Whatisthecostof1 > kg of sweets?

1
Acanholds 8 2 litre of oil. How many litre of 0il 12 such cans can hold?
1
A bag contains 965 kg of sugar. How much sugar do 9 such bags contain?

1
A Cobbler works 85 hoursaday.Howlongdoesheworkinamonth?

1 2
The cost ofoge kgofapplesis X 305.Whatisthe cost of 25 kg of apples?

g of hisincome to his wife. If his total income is¥ 5000, how much does he

give to his wife?

Rajesh gives
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<f Division of Fractional Number
Let us now consider that Shiva has a full chocolate bar.

Shiva cuts it into two equal parts and gives one part to Pavan. Pavan cuts his part of
chocolate bar into four equal parts and gives one of the parts to his sister Richa. What
fraction of the full chocolate bar does Richa get?

The full chocolate bar represents 1.

(full chocolate bar with Shiva)

1 1 1
The half part of chocolate bar represents 1+20r50f10r 1x5=5 :

One part of the chocolate bar represents 1+4 or 1 of 1 or 1xlz1 .
2 2 4 2 4 8

1
Thus, Richa gets 3 of the full chocolate bar.

1
Example XIV : Find 85+4.

, 17 17 1
Solution : 8—+4=—+4=—x—
2 2 2 4

17x1 17 1

= =—or2—

2x4 8 8

Division of a Whole Number by a Fractional Number

There are 3 apples. If we cut each apple into 2 equal pieces, then each piece will be

% of anapple. We will get 6 pieces from 3 apples.

We can also solve it by dividing 3 by 1
2

Therefore, 6 pieces, each equal to % of anapple, can be obtained from 3 apples.
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6’“ Now, study the following:
&
'“i 1 1
1+—=5 3+—=6
5 2
1 1
1+—=1x5 3+—=3x2
S *
Multiplicative inverse of — Multiplicative mverseofE
5
Similarly,
1 1
6+—=6x2=12 6+—=6x5=30
2 5
1 1
5+—=5x3=15 7+—=7x8=56
3 8

Now, study some more examples:

, 2 5 4x5 10
(l) 4+—=4X—= X 220 =

10
5 2 2 2"

2
=Multiplicative inverse ofg

6 11 6x11 t
gy Sromexg-ZLEE
11 6 6 B

6
=Multiplicativeinverse of 11

Therefore, to divide whole number by a fractional number, we multiply the whole
number by the multiplicative inverse of the fractional number.

.. 5
Example XV : Divide 15 byg.

Solution : 15+ = =15x—= =_"-18

8
Example XVI : Divide 35by 35.

1
Solution : 35+3§=35+§=35xi=35 T9=9
9 9 35 35
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Division of a Fractional Number by a Fractional Number s 'Q;,
Now, consider the division 2 - 1. We know that division can be represented as repeated % ”

subtraction. 3 3

Thus,%+1 can be written as 21 = 1, 1.1 = 0. We haveto subtract1 two times
3 3 3 3 3 3 3

3
togetthe remainderO.

Thereare 2one-thirdsin Z o Z:Z = =~ -2
3 3 3 /g/ 1

L., 2 1
We canalsodivide —by 3 as shown below.

2 2.1 2 F 2
1

3
‘- o)
2 1 Sl 2 : Jw :
£.223.38 2 Facts to Rnow
3 3 1 1 xg 1 .......
3 3 : O Whole number = fraction = whole :
2 1 2 number x reciprocal of fraction
Therefore, —+—=—X3=2.
"33 3

X
“— W

Multiplicative inverse of 3

Therefore, to divide a fractional number by another fractional number, we multiply
the first fractional number by the multiplicative inverse of the second fractional
number.

1 5
Example XVII : D|V|de_ by o
_ 1 5 1 12 1x12 5°
Solution T —+—=—Xx— = = — ==
8 12 8 5 8x5 40 10
1 5 3
Therefore, —+ —=—.
8 12 10
3 9
Example XVIII : D|V|de— by o
, 3 9 £ ,1'0/ C1x2 2
Solution = — - - el
5 10 £ /g T 1x3 3
Therefore, 3 + 92 = 2 .
5 10 3
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1. Divide the following.
3 7 12 7
a. —by3 b. —by4 c. —byb d —by7
4 10 17 8
2. Findthe quotient.
1 3 1 1
a. 5—+2 b. 4—+7 C. 12— =5 d 11—+3
3 8 2 4
3. Divide the following.
a. 21+l b. 42+§ C. 48+ﬂ
11 7 9
d. 39+61 e. 21+51 f. 56+31
2 4 2
4. Findthe quotientofthe following.
a. 2.2 b. 2.7 c. 4.1 d. 2.7
3 3 5 5 9 12 25 10
1 7
e 8— =+ —
2 2
5. Whichofthe following are true?
2 2 1
1+1=1x1 b. —+3=—x= ¢ 31+3=Zx3
2 5 25 5 5> 3 2 2
1 3 1 13 1
d 5-+5=—x5 e. 3—+6=—x—
3 16 4 7 12
Properties of Division of Fractional Numbers :
Propertyl : Ifafractionalnumberisdividedby 1,thenthe quotientisthe fractional
number itself.
For Example : E+1=E><1= 2x1_2
5 5 1 5x1 5
Property2 : Ifanon-zerofractional numberis divided by itself, then the quotientis 1.
4 4 4 5 20
ForExample : —+—=—x—=—=1
5 5 5 4 20
Property3 : Ifzero(0)is divided by non-zero fractional number, then the quotient

is always zero.

For Example: 0+1=0x3=0
3
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Property4 : The reciprocal of zero or multiplicative inverse does not exist. So, a %
fractional number can not be divided by zero (0). % o*
™ [ 3
¢\ _Exercise I
1. Fillintheblanks.
a §+ e b. X% _ [T =320
4 5
d 0_83= ............... e 7E+ ............. =7i f 5l o e, =1
5 4 8
2. Whichofthefollowing are true?
1
% 0+3-=0 b 4li1-1 ¢ 53.53.
2 2 7 7
1 1 1
d 1:6==1 e. 2,24 f 325322
< 3 7 7 4 5 5
w2 Word Problems
Example XIX  : Farukh sheikh has 8 kg of apples. He distributed these apples among his
friends. If each friend got1 kg of apples, then how many friends Farukh
4
sheikh has?
Solution : Quantity of apples Farukh sheikh has =8 kg
1
Quantity of apples that each friend got=z kg
Then, number of friendsto get the apples= 8+ 1
4
8 4
=—x—=32.
Therefore, number of friendsis 32. 1 1
Example XX : How many quar'iers aretherein 2i ?
Solution : Onequarter= — 4
3 1
Numberof quartersin 2—=2—+—
4 4 4
11 1 11 4
—+—=—x—=11.
4 4 4 1

Therefore, number of quartersis 11.
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5
1. 155 litre of curd is poured equally into 25 peoples. How much curd will be there in each

w N

o s

equally to peoples ? 1
The weight of 15 packets of sweets s 75 kg. Find the weight of each packet.

5 1
A manwalks 5§ kmin 2— hours. What distance does he coverin 1 hour?

1
The product of two numberis SZ .Ifone numberis 25 ,thenfind the other number.
Rita has % kilogram of oranges. She wants to distribute them equally among 3 of her

friends. How much of oranges will each of her friends get?

8
6. Theweightof 8 bagstogetheris 14; kg. Find the weight of each bags.

. 1. : - . . 1 .
7. Adrum contains 3SZI|tre of oil. If oil is poured into small cans of capacity 4Z litre each,

then how many cans are required to hold entire oil of the drum?

«

Points to Remember *

/
0’0

(72

Fraction having same value.

When the numerator and the denominator are interchanged in a faction, the
resultis called multiplicate inverse / reciprocal of the fraction.

A fraction represents an equal part of awhole.

A proper fraction has anumerator less than the denominator.

To add the mixed fractions we change the fraction to improper fraction.
The product of 1 and a fractional number is the fractional number itself.
The product of 0 and a fractional number is always 0.

If the fractional number is divided by 1, then quotient is the fractional number
itself.

If the fractional number is divided by it self, then the quotient s 1.

If zero (0) is divided by a non-zero fractional number, the quotient is always
zero (0).
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1. Multiple Choice Questions (MCQs)
Tick (D) the correctoption:

5x§=§x ............
5 5
(i) 1 (i) 3 (iii) 5 (iv) 8
b 2 [3 4] [2 3)
—X| —X— | = =X — [ X ciiiiiiienns
3 5 5 3 5
. 4 .. b .. b o, 12
i) — i) — i) — iv) —
(i) c (ii) c (iii) I (iv) r
c 0><£= ..........
o2 ) 4 -
(i) 1 7(||) 0 (iii) 5 (iv) 4
d. Thereciprocalof —is.........c.cc....... :
N7 o7 i g .8
0 3 (ii) (iif) (iv) 3
e. Themultiplicativeinverseof 11is.................... . 1
(i) 11 (i) 1 (iii) 0 (iv) 1
2. Fillinthe blanks with suitable symbols <,> or =.
s EERE S E O
o 5 5 "9 8 “ 5 25 T2 13
3. Findthe productofthe following.
a. 3xE b. ExE C. Ex§ d. Zx25
5 5 2 7 9 5
4. Findthe productofthe mixed fractions.
a. 21><3z b. 53x7i C. 11x§ d. 4§><5i
5 5 11 12 8 9 7 13
5. Divide the following.
Z+Z b. 1+8 C. i—§ d. 1§+2E
5 5 8 10 5 9 15
6. Findthereciprocal or multiplicative inverse of the following.
a. 25 b. 1 C. 15 d. 25 e. 1§

8 19 7
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ﬁ;é 7. A mandistributed his property among his three sons. He gave = part to his first son and
.. 3 7
i 0 part to his second son. How much property did the third one get?

&«

many students were present?

2
9. Aropeof 165 m longis cutinto 2 equal pieces. What is the length of each piece?

1
There are 840 studentsinaschool. Onarainy dayEofthe students were absent. How

., ¥
Il Ravitold to Hari, “lhaveE of1 of 1of1 toffees of your toffees”. If Hari has 16
2 2 2 2
C%) toffees then how much toffees does Ravi have?
S
S b Objective : To build an understanding of multiplication of\
a o b
ractions.

~3

Activities :

/ : o (]
6t"”t.y Materials Required : Square-lined paper and crayon of two colours

To solve 1 x 2
3 5

<> Since the two denominators are 3 and 5, the students draw a

rectangle of sides by 3 x 5 square-lined paper.

1
% Then one student colours 3 of the rectangle with blue horizontal
lines.

.
£ X4

2 . i
The second student colours T of the rectangle with red vertical lines.

What fraction of the sheet does have
both vertical and horizontal lines?
This shows that

1 2 2

— X —=—,

3 5 15

Step 1

Step 2

Step 3

N e e e e e o e i — — — — — — — — — — — ——— i —————————————————————————————————————— ——— —
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